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Questions 1 to 10 carry 1 mark each. Questions 11 1o 15 camry 2 marks each.

For each question, four options are given. One of them is the correct anbiver.

Make your choice (1, 2, 3 or 4). Shade the comrect oval (1, 2, 3or4) on the

Optical Answer Sheet. {20 marks)

1 g x20=500.

What is the value of jﬁ( ?

(1) 250
@ 100 |
@ 30
@) 25
2  19.09kg=__ kg__ g

(1) 1kg908g

(2) 19kg9g ' ) i
(3) 19kgS80g |
(4) 190kg9g

3 Round off 2.834 to 2 decimal places.

{1y 2.80
() 283
(3) 284
(4) 280

2 (Go on to the pext page)
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e 4 1
Find the value of 7 -3

M 3
@ &
@
@ 2

Arrange the following numbers from the smatiest to the largest,

8 8.7 8.07
1) 8 8.07 8.7
@2 87 8 8.07
(3) 8.7 8.07 B8
(4 807 87 8

Which of the following would be the most likely mass of a laptop?

() 20g

(2) 2kg
(3) 20kg
(4) 2009

3 (Go on to the next page)
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In the diagram, AB and CD are straight lines. Which of the following

statement is true?
Y sZm=4n
2 Lp=Lg
(3) 8= Lp
) zs=sr

Esther brought -;— of a pizza {o school. She ate-g- of it. How mué:h of the

pizza had she eaten?

)

(2)

3)

4)

4 : {Go on to the next page)
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Siti made some lemonade drink by mixing the lemonade syrup with water in
the ratio 1 : 3. She made 12 litres of the lemonade drink. How much water

did she use?
() 94
2) 8t
(3) 3¢
@) 4t

The figure is made up of a semicircle and a quarter circle of radius 7 cm.
Find the perimeter of the figure. (Take 7= )

1\
(2)
3)
4)

33 cm

47 cm
61 cm

115.5cm

5 (Go on o the next pags)
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12

The cost of a shirt was twice the cost of a pair of pants, The pair of pants
cost $n. Mr Samad bought 3 pairs of pants and a shirt. He gave the
cashier $100. Which of the following expressions shows the amount of
change that Mr Samad received? )

(1) $(100 - 3n)
@  $(100- 4n)
@)  $(100-5n)
@) $(100-7n)

In the diagram below, ACD is an equiiateral triangle. DCB isa straidht line
and BC = AC. Find £CAB. :

A
D C B

(1)  ao°
(2) 45° |
(3) 60°
(4) 120°

6 {Go on to the next page)
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14

18

During a sale, the price of a blouse was sold at $40. This was 20% less
than the usual selling price. What was the price of the blouse before the

sale?

(1)
(2)
(3)
{4)

$8
$48
$50

$200

There were twice as many girls as boys in a Computer Club. After 15 girls
left the club and 10 boys joined the club, there was an equal number of
boys and girls in the club. How many girls and boys were there in the

Computer Club at first?
{1y 15
2y 25
3y S50
(4y 75

Alice and Wei Ling shared the cost of a git. Alice paid & of the cost of the
gift and an additional $36. Wei Ling paid $54. How much did the gift cost?

(1
(2)

)

4)

$225
$160

$126

$00

7 (Go on to Booklet )
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QUBSHOI'IS 16 to zo carry 1 mark eaoh Wnte your answers in the spaoes
provided. For questions which require units, give your answers in the units
stated. (5 marks)

16  Whatis the length of the pencii? -

| ﬂnpm'ﬂ!l‘mqIm[ﬂrr||m|mmlnllmpﬁmirqﬂ!nnfmqmI[m;mqlmlimpls lﬁlrnq
%o i 2 3 4 5 6 7 8 9§ 101 12 13 14&15

BP-~278

Do not write
in this space

Ans: om
17  Find the value of % + 3.
Ans:
3 .
18 . Expressg % as a decimal.-
Ans:
2 {Go on to the next page)
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18 Mary baked m number of muflins in the moming. In the aftemoon, stile Do fot write
baked 58 muffins. She had 106 muffins in the end. How many muffins iri this space
did she bake in the morning? '

Ans:
20 in the diagram below, Zg = Zh. Find Zg.
58°
g
h
Ans: d
3 {Go on fo the hext pags)
www.testpapersfree.com




Questions 21 to 38 cairy 2 marks each. Show your working clearly and write Do not write
your answers in the spaces provided. For questions which require units, give | inthis space
your answers in the units stated. {20 marks)
21 The perimeter of the isosceles triangle shown below is 36 cm.
What is the value of d ?
(d+3)em
dcm
Ans:
22  The ratio of Peter's money to John's money is 3 : 5. After Peter spent
$24, the ratio of Peter's money to John's money is 3: 7. How much
money did Peter have at first?
Ans: §
4 {Go on to the next page)
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23 Arepeated pattem Is formed using the digits 1 and 3. Do not write
The first 15 digits are shown below. What is the sum of the first -1 inthis spac
24 digits?

t 3+ 31 1 3 1 3 1°4% 3 1 3 1...
1t ond 3w '- 15

Ans:

‘24 Highlighters are sold in packets of 4. Each packet is sold at $8.
"~ Tom has $30. What is the maximum number of highlighters that hq
- can buy? |

5 ' | (Go on to the next page)
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25  The ratio of the amount of money Siew Li had to the amount of money Do not write
Rachel had was 3 ; 4. Each of them bought a bag which cost $45. in this space
The ratio of the amount of money Siew Li had to the amount of money
Rachel had in the end was 3 : 7. How much money did Rachel have
at first?

Ans. $

26  Ann saves 40% of her pocket money every month. When her pocket
money increased by 20%, her savings aiso increased by $12.
What was Ann's pocket money before the increase?

Ans: $

6 {Go on to the next page)
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27  The diagram below shows a pattern that is made up of identical squaﬁes Do not write
. - 22 in this space
and quadrants. Find the tofal shaded area._(T sken= 52 )

Ans: ___ crrr2

28 . -Mrs Seeto had some oranges, apples and mangoes in her fruit basket.
- 40% of the fruits in the basket were oranges. The number of apples

" ‘was *25 the number of mangoes What percentage of her fruits

was mangoes?

Ans: %

7 {Go on to the next pags)
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Do not write

29  In the diagram below, AB is parallel to CD and XZ = YZ. Find LXYZ. e
in this space

B

Ans:

30 Mrs Tan bought a 100 kg sack of flour at $150. She repacked the flour
into smalier packets. The mass of each smalier packet was % kg.
She sokd all the smaller packets of flour at $2 each.
Each of the statements below is either true, false or not possible to tell

from the information given. For each statement, put a tick (v } to indicate
YOUr answers.

Statement True False | Notpossible
to tell

After repacking, there were more
than 100 smaller packets of flour.

£ g of flour was left.

Mrs Tan collected more money
than what she spent on the sack
of flour.

-

o .
End of Paper
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Questions 1 to 5 cary 2 marks each. Show your working clearly and write

BP-~286

Do not write
your answers in the spaces provided. For questions which require units, in this spac
give your answers in the units stated. (10 marks)

| 1
1 The total cost of a book and penis $26. The cost of the pen I8 zthe cost of
the book. What Is the cost of thié book? -
Ans: $
2 Water drips from a tap at a rate of 6 mi per second into an empty bucket.
How much water is collected in 1 hour? Give your answer in litres.
Ans: t

2 {Go on to the next page)
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Mr Ahmad made soya bean drink using the recipe below.

Soya Bean Recipe
Quantity | Ingredients .
250 g soya bean
40g sugar
1.2 litres | water
2 pandan leaf

He used 1 kg of soya beans. How many grams of sugar did he use?

Ans:

BP-287

Do not write
in this space

In the grid below, the lines AB and BD have been drawn for you. |
(&) Draw a parallelogram ABCD in the grid below, such that AB = DG

Label your parallelogram clearly.

(b} What is the area of the parallelogram, ABCD?

1om
L e

ol

B

/N

Ans: (b)

|

cm?

www.testpapersfree.com
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5

The figure below shows a semicircle and 3 quarter circles. O is the centre
of the 3 quarter circles. The diameter of the semicircie is 14 cm.
Find the area of the figure. Use the calculator value of = and give your

answer correct fo 1

decimal place.

Ans: cm?

Do not write
in this space

4 (Goontothehe’xtpage}
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For questions € to 17, show your working clearly and write your answers in Fha
space provided. The number of marks available is shown in brackets [1] a* the
end of each question or part-question. {45 marks)

6 “The table below shows Amil's Mathematics marks for 2 tests. In which test
did Amii do better in and by how many percent? |

BP-289

Do not write
in this space

Test Marks Obtained Total marks for the test
Test 1 45 60
Test 2 63 50
Ans: Test (31
7 in the grid below, draw triangle PQR, such that the area of triangle PQR is
9 cm?. [31
1
4—?—': P
1 ch
Q
5 ‘ {Go on to the next page)
Www.testpapérsfree.com
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ade up of a semicircie and a triangle, OAB. Do not wite

‘8 The diagram below is m
2 . Find the area of the shaded parts. in this space

The unshaded area, P, is 100 cm
(Take 7 = 3.14)

Ans: 3]

9 The average of 6 consecutive numbers is 152.5. What is 10 less than the
smallest number?

Ans: 31

6 | ~ {Go on to the next pagé)
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10 During a sale, a shop offered a 20% discount on all its mobile phongs.
- Ming chose a phone which cost $160 less than its usual price due 16

the discount given. He had to pay an additional 7% GST on the

discounted price. How much did Ming pay for the mobile phone In the-end?

BP~291

Do !!(_)i wrth
in this spac

Ans: .13
11 Inthe diagram below, CDE and FGH are straight lines. DG = GE.
Find £ DCH.

{a} Fin . /
(b) Find £ EGF e

Ans: (a) &

(b) {21
_?' {Go on to the next page)

www.testpapersfree.com




12

The line graph below shows the number of bicycles sold from January
{o May.

40 T 1
L
i '\\
Ill \"\ /I, N
s o L .
o 30 I/ \\ ’_I o~
g \\ II
L]
2
B 20
k)
Toue
@
=
Z 10
0
Jan Feb Mar Apr May
Month

(a) What was the average number of bicycles sold per month?
{b) The average number of bicycles sold from January to June was 34.5.
What was the number of bicycles sold in June?

2]

Ans: ()
(b)

(2]

Do not write
in this spac

BP-292
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13 Arjun foided a circular plece of papar into half as shown in Figure 1. i
The resulting shape in Figure 2 has a perimeter of 36 cm. '
He then folded the figure further into halves fwice, until he obtained

Figure 4.
. _._.q

Figure 1 Figure 2 Figure3  Figure 4

- Figure 4 has a perimeter of 19.5 cm. Find the. circumference of the ongmal
circular shest of paper as seen in Figure 1. {Take = = ) i

Ans: (43

Do nét write
in this space

www.testpapersfree.com
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The perimeter of a square is p cm. The side of the square is the same as
the breadith of the reciangle, but it is 3 cm shorter than the length of the

ractangie.

(a) What is the length of the square?

{ Express o= ondwer 10 Fera

(b) What is the perimeter of the rectangle? - of /5 5
(c) if p = 12, what is the area of the rectangle?
Ans: (a) [11
(b) {2
() 2

Do nol wiite
in this space

10
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There were % as many boys as giris in a school hall at first. After 30 p;rls

and 20 boys left the school hall, 25% of the pupils remaining in the sthool

hall were boys. What was the total number of boys and giris in the school
hall at first? ' |

Ans: 4]

Do not writ
in this spac

1"

www.testpapersfree.com
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) 4 Do not write
16  Haslima had a sum of money. Sﬁe spent $35 on a beltand 3 of the in this space
remainder on a pair of shoes. She was left with % of the original sum of
the money. How much money did Haslima have at first?
Ans: [41

12

. www.testpapersfree.com
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John drew a cube of sides 15 cm. He then drew ancther cuboid by
increasing the length and height of the cube by 20%. What was the

percentage increase in the volume of the new cuboid that ha had drawn?

Ans:

(5]

BP-297

Do not write
in this space

. 13
End of Paper
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ANSWER KEY
YEAR 1 2021
LEVEL :  PRIMARY 6
SCHOOL : MGS
SUBJECT : MATHEMATICS

TERM :~ MID-YEAR EXAM

BOOKLET A {PAPER 1)

Ql 4 Q2 3 Q3 yd Q4 3 Q5 1

Q6 2 Q7 4 Qg |2 Q9 1 Qo |3
Qi1 |3 Q12 |1 Qi3 |3 Q4 |a Qis |2
BOOKLET B (PAPER 1)
Q16 | 14cm — 1.5cm = 12.5¢cm Q177 .3.7,1_7
06 __6 19 ?w—iosgm 5?;3 -2;7
QI8 | = = 0.006 Q = =
Q20 | < g+<h~—360°-58°-90°=212° Q21 | (d+3)em+{d+3)cm+dem=(3d+6)em
<g~—212° = 2=106° (3d+6)cm=36cm
' (3d)cm=36cm-6em=30cm
D=30cm-+3 = 10cm
Q22! 21u-15u=6u Q23 | 1+3+1+3+1=9
6u = $24 24 +5=4R4
lu=$24+6=5%4 ‘ 9x4=36
21u=$4x21=%84 1+3+1+3=8
- 36 +8=44 |
024 | 530 + $8 = 3R6 Q25 | 16u - 7u =9y !
3Ix4=12 9u = $45

Iu=$45+9=55
16u = $5x 16 = $80 |

Q26 | 20% x 40% = 8% Q27 15A—>7x7-§x573x7x7

12
100%—> = x 100% = $150 -49-2x By 7x7

=49 -38.5 = 10.5
105x4=42cm2
Q28 | 5u - 60% ' Q29 | < XYZ=(180°.98°)=82°

lu-60 +5=12 82° +2 =z 41°
3u -5 12x3=36% ‘

Q30 a) True
b) False
c) True

www.testpapersfree.com
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PAPER 2
Ql |5u=526 Q2 |1second — 6ml
1u=$26 + 5=55.20 3600 second—6mix3600
4u = $5.20 x 4 = $20.80 =21600mi = 21.6L
03 | 1000g —-250g=4 Q4 a)
40g x 4 = 160g ml‘ﬂ
I
2 - F
o
b) %x 4cm x 4cm = 8cm2
8cm2 x 2 = 16cm2
Qs 2circle=%xm10xm=75n Q6 | Test1-> 2= x 100% = 75%
1 Semicircle = ;- XTX7x7=245n Test2 — %x 100% = 70%
Total=24.5m+75m=312.58 75% - 70% = 5%
312.58 ~312.6cm2 She did better in test 1 by 5%
Q7 = P Q8 |36cm <+ 2=18cm
ten] P h | %x 18cm x 28cm = 252cm2
Q 252cm2 — 100cm2 = 152cm2
;"‘-ﬂ %xftxrxr=-12—x3.14xlscmx
WR. 18cm = 508.68cm2
508.68cm2 — 100cm2
=408.68cm2
408.68cm2 + 152cm2
=560.68cm2
Q9 |152.5x6=915 Q10 | 100%-20%=80%
915 - {3 x5) =900 20% — $160
900 + 6 = 150 1% — $160 -+ 20 = 58
Number — 150 - 10 = 140 80% — $8 x 80 = $640
$640 x - = $684.80
Qill a) <DCH=180°-112°=68° Q12 a) 29+37+26+38+30=160
b) <EGF=180° —(110°+44°)=26" 160 - 5=32
b) 34.5x 6 =207
207 - 160 = 47
Qi3 | 36cm + 2 = 18cm {A+2B) Q14 a) 5q - Ecm
19.5¢m x 2 = 39cm {4A+2B) b) pcm+3cm+3cm
39¢m = 18cm = 21cm =pcm+6em
2lcem = 3=7 =(p+6)ecm
Circumference of Fig 1 ) 12cm+4=3cm
=2XTIXY

=2x2—72-x7cm = 44cm

3cm+3cm=6em
" 6cmx3cm=180m2

www.testpapersfree.com
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Q15

Boys : Girls

2u  :5u

-20 :-30

1p :3p

ip= 2u-20
3p-5u-30
3x{2u-20)=5u-30
6u - 60 =5u-30
6u ~ 5u =60 - 30
lu=30
7u=30x7=210

Qlé6

2 \
$35+2= $17.§50

.3_ —17.50x9= 52157-50

Q17

Volume of cube — 15 x 15 x 15

= 3375

20
"'1"6-6)(15—3

15+3=18
Volume of cuboid — 18 x 18 x 15
= 4860

Increase — 4860 — 3375 = 1485

1485
Percentage— 2375 X 100 = 44%

EnA P
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